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5. 7.
W 5 = . N 3.
A solution of Ag(NO,); (an unusual form of silver) reacts with gold metal while a solution of If Fe* (aq) and CI”(aq) are mixed, FeCl,(aq) results. However, if Fe** (aq) and

AgNO, does not react with gold. What is the order of oxidizing agents when arranged from I"(aq) are mixed, Fel,(aq) does not result. Which of the following best describes why?

strongest to weakest? i
A. Fel, is soluble.

+ 3+ +
a >mu+. A , . A B. I  isoxidized in the solution.
+ +
L= >:~ ' >m¥ ' Ag C. Fe™ forms an acidic solution.
+ +
C. Ag”, Au™, Ag D. Fe® is too strong a reducing ageat.
D. Agh, Ag*, Au*
Al
. B.2
Al C.3
B.2 D.4
C.3 v
D.4 8.
Which of the following best describes what happens when lead solid is placed in a 1.OM solution
6. of Cu(NO,),?
Consider the following skeletal redox reaction in basic solution: A. Bubbles form on the lead.
E. No changes are observed.
MnO.~ + Mn?* — MnO C. Copper solid forms on the lead and the solution changes colour.
4 2 A .
D. The mass of lead solid increases and the solution does not change colour.
Which of the following is the reduction half-reaction? Al
- = 2+ B.2
A, 2 + 40H™+ Mn“" — MnO, + 2H,0 C.3
40H™ + Mn?* — MnO, + 2H,0 + 2¢~ D.4

B
C. 3¢ + 2H,0 + MnO, — MnO, + 40H"
D. 4e” + 2H,0 + MnO, — MnO, + 40H"
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12. 53

electrons

inert electrode

Fe 1.0 M Hg(NO,),

1.0 M Sn AZ van 1.0 M Fe AZ 01, [f the standard cell voltage is 1.25 V, what is the reduction half-ce]l potential for Cd?

. . A, =040V

What is the cathode half-cell reaction? B. +0.40V

- _ C. 4125V

A Sn“"+2 — Sn D. +2.10V
B. Fe?* +2~ — Fe Al
C. Fe** +e — R mw
D. Sn** + 2 — Sn** D.4
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17. 19.

An iron pipeline can be protected from rusting by connecting it to a What products result from the electrolysis of molten KBr?
A. zinc nitrate solution.
B. silver nitrate solution.
C. zinc electrode buried beside the pipeline. n
D. silver electrode buried beside the pipeline. ‘
B.
Al
B.2 C.
C.3
D.4 D.
18.
Al
. . . . B.2
Which of the following would prevent the corrosion of an iron nail? C.3
A. Store the nail inCl,(g). D.4
B. Store the nail in dry air. 20.
. [Diieyhe Eﬁ e cmmw..wn of Em:bwm ,”E:m.n. L Which of the following species is consumed during the electrolysis of aqueous CuSO,
D. Store the nail wrapped in cobalt wire in a beaker of distilled water. when using a copper cathode and a carbon anode?
Al A. 0O,
B.2 B. Cu
C.3 C. cut
D.4 D. SO
Al
B.2
C.3
D.4
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